ERM28FEENFI - XFEHEF FEE(ITEFE)
(Fr28FE4A1HB~Fp29F3H31H)
* A 1T = ¥ iE %
A B ( B 8 )
= 2 0 X = =
T 28 & 48 18 (&) %
~ 48 108 (B) BEAX
48 18 (%)
E1SAHE : Pl A Tl
- 4 B 20 B ( 7}() 51578 ﬁﬁﬂﬁ E1 E_ﬁ i il
. 4 H 48 (A8) AFER
4 8 58 (X) FEABEEE (FTAL)
s as, NP RERAZAIVIT—230 G ALE)
4 B 68 (X) FEEEFE)HAF R KBRS X
48 78 (XK) F1F AR XA
48 158 (&) B EHEE () IR IR (4 — T iR %)
1 [HFZEEHEE (F) | (2FERUL),
4 B 28 H (K) MeEHERF-MRHEE G I (FFAE)
REHEAR A -8R
4 B 308 () WE LT EEfE REMRKE)
58 18 (8) — o i
Wb £S5
e eA am () BESBIBERE)
=2 58 38 (%) WBEOIREBFIT
6 A 68 (AH) HE TR
~ 68 108 (%) SIRHAR (6 A #A)
6 A 138 (A) EREELI PR
~ 68 178 (%) <ZIRHARE (6 A HA)
8 A 28 (W) N
#A F12Y AEY
- 8 B 5E|($) E%%ﬂ%q:' ?Jzﬂﬁzﬁ
8 A 108 (X&) F1IFHIRERT
8 A 118 (K) -
~ 98 308 (%) HEHX
9 A TA FESRX (ET R RS
9 H 26H (B)
2R BB iRE
10 H 17 H (A FE22HHE BIESRYN
108 18 (x) F2F IR X
10 A 31 B (A) ZR R CEE B 1R 2R &5/ >CRE B 1R H HAR
= ~ 11 A 118 (%) (11B118(£) 17:00FT) (11A11B8(£) 17:00FT)
11 A 38 (XK) RS EE
1MA 48 (%) 25 4% 55 =
1A em (B KELB(BERH)
11 B 78 (AB) REEZ AT GZERE)
o 128 58 (A) 1B PR
~ 12 8 98 (%) M (1278 5)
12 A 12 8 ( A) EEETRARX
~ 12 A 16 B (£) ZIEHRI(128H))
12 19
B9 B CA e s iipt o2 8 (SPISEHE) - XEWRH FEEEHRH]
" ~ 12 B 228 (XK)
%
12 A 28 8 (XK)
K.
~ E20% 1A 3H (%) SFIRR
TR 48 (XK) ZR 5 TR L BARS Bt RIR H EARS
~ 18 6H (2) (6H (£)17:00%T) (6B (£)17:00%T)
1A 138 (%) o A—EE EFEDT-ODERIAZE (FEKRE)
A 28 178 (£) RS RS EIR R
2 8178 (&) F2FHIRERT
XEEAFE ER
2 A 258 (L) muzhss@men) 3w
3 A T4 BER-FUTEER
1. ERTEFEOHMRVOZFOMITEHRICDOLNTIE, B RICKYEHMLET,
2 TEFEFIIMEICIVERTHIGEENHYET DT, B RITSEFEL TS,
3. £FHEHBE RV EE -AEREFCOVTIE, LREBOFERBLEE—BLEVWEAHBYET DT, FELTLESLY,
T4, FH(EFE)RUKREROAAMF VDRI EE -EMKEFILIZfTHhhET,

FHMEH/TRICKYBILET O T, HBHRITSEEL TS,




